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���
 ���2<���; @# A λ����B2 �;� ��2� ��B; ���2
9�! �$��C�� 2�B�<2��� @# A λ������ ���B ���B ��;B ����
8�D ���6 2�B�<���; E ��B� ���� ���2 2���
8�� � 2���<2��� E �2� ���� ��BB ����
8����CD 6 2���<���2 F A λB;���� 2��� ���2 ���� 2���
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��	� �� X� P�� ���  � ���� �� � �� 
���� 7� ��  ����� ���� =�

������� 
� ���� � �� C� �" �" ��=������ 
���
 JxK < 8�D ���6 JyK� JSx � Sy < ����������!YG�� ��� $
6��� �� ���C� � ��� n < ���C� 7�� ���� ����
�I � ��� �" 89:K

>�6 n Sx� >� Sy� >� ���� � �� r

2�B� 22� ���� ��2� y = +0.12(2) + 0.17(04) × x ����
2�B; 2�� ���� ��2� y = +0.06(2) + 0.09(03) × x ����
2��2 �� 2��B ���� y = +0.30(7) + 0.70(06) × x ����
2��� �; ���� ���� y = +0.10(4) + 0.37(08) × x ��;�
2���<2��� �� ���� ��2� y = −0.05(3) + 0.24(09) × x ����
2��; �� ���� ��22 y = −0.03(3) + 0.17(12) × x ����
2��B 2� ���� ��2� y = +0.05(3) + 0.21(09) × x ����
2��� �; ���2 ���� y = +0.07(4) + 0.37(08) × x ��;�
2��� 2�� ��;� ���; y = +0.02(3) + 0.36(04) × x ��B�
���� �B ���� ���� y = +0.11(3) + 0.40(04) × x ����
���2 22� ���� ���� y = +0.07(3) + 0.42(05) × x ��;�
���� 2�� ��;� ���� y = +0.11(2) + 0.55(03) × x ����
���� 2�� ���� ��;� y = −0.01(2) + 0.56(02) × x ����
���� 2�2 ���� ���� y = +0.02(2) + 0.55(03) × x ����
���� �� ���� ���� y = +0.08(3) + 0.40(07) × x ��BB
���; B� ���B ��2� y = +0.06(1) + 0.58(05) × x ����

2�B�<���; 2��� ��;� ���B y = +0.07(1) + 0.45(01) × x ��B�
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����� ����� ����� � �
� �
�	����� ����
���(! 	 ������� $ 	 �
���$ �&��
	���
��$r ���
���
! 	
�7t � ������t�����! ���&�� <�! � ��
3� v���	 � �
� �.//1��! v���	 ����<��

������� �� ���� � �� C� �" �" ��=������ 
9�! �$��C�� JxK < 8�D ���6 JyK�

>�6 n Sx� >� Sy� >� ���� � �� r

2�B� 2�� ��;� ��2� y = +0.06(2) + 0.08(2) × x ����
2�B; �2B ���� ��2� y = +0.04(1) + 0.05(2) × x ����
2�BB 2�� ���� ��2; y = +0.08(1) + 0.23(4) × x ���2
2�B� 2B2 ���� ���B y = −0.01(2) + 0.33(4) × x ��;�
2�B� 2�2 2�22 ���� y = +0.09(3) + 0.28(3) × x ��;B
2��� 2;B ��;� ���� y = −0.10(3) + 0.48(4) × x ��;B
2��2 2B� ���2 ��;� y = +0.06(3) + 0.54(4) × x ��BB
2��� 2B� ���� ��;B y = +0.03(3) + 1.20(7) × x ����

������� �� 8��� � �� ��
��� �" 
Z'US[ JxK < 85� JyK� � 
Z'US[ JxK < ��45 JyK�

>�6 n Sx� >� Sy� >� ���� � �� r

Z'US[ < 85�

2��� 2;� ��;� ���� y = −0.07(3) + 0.38(04) × x ��;;
2��� �2� ���2 ���� y = −0.08(2) + 0.53(03) × x ����
2��� ��� ���2 ���� y = −0.04(1) + 0.58(03) × x ���;
2��� 2�� ���� ��2� y = −0.03(1) + 0.54(04) × x ����
2��; 2B� ���� ��2� y = −0.01(1) + 0.35(04) × x ��;�
2��B ��B ��2� ��2� y = +0.02(1) + 0.48(05) × x ���B
���� 2�� ���� ���; y = +0.10(3) + 0.73(05) × x ��B;
���2 2�� ���� ���� y = +0.14(2) + 0.75(04) × x ���2

Z'US[ < ��45

2��� �� ���B ���� y = −0.31(8) + 0.77(17) × x ��B�
2���<2��� 2� ���� ���� y = +0.15(7) + 1.05(30) × x ��B�
2��;<2��B �B ���B ���� y = +0.13(6) + 0.48(21) × x ���B
���� �� ���2 ���B y = +0.02(4) + 1.60(07) × x ����
���2 ;� ���� ���2 y = +0.09(4) + 1.10(09) × x ����
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>�6 n Sx� >� Sy� >� ���� � �� r

5�: < 85�

����$Z 2B 2�2� ���� y = +0.05(7) + 0.48(6) × x ����
����$R �� ���; ���2 y = +0.03(2) + 0.45(3) × x ����
����$Z �� ���� ���� y = +0.01(2) + 0.57(4) × x ����
����$R �� ���B ���� y = +0.02(2) + 0.40(4) × x ��B�
����$Z �; ���� ���� y = +0.02(2) + 0.52(4) × x ����
���;$4 B� ���2 ��2� y = −0.02(2) + 0.44(6) × x ��B�
���;$Z 2�� ���B ��2� y = +0.01(1) + 0.40(3) × x ����

5�: < ��45

����<���� ;� ��;B ���� y = −0.02(4) + 0.61(6) × x ����
���� �� ���� ���� y = −0.12(4) + 0.91(9) × x ����
���; �B ���� ���� y = −0.10(2) + 0.74(8) × x ����
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